ANDERSON AND UNION COUNTIES (Contract No. CNS701 Call 001)

98100-4213-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 145.120 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

M & M Contract Mowing, LLC Orr Contracting, Inc. TOTAL CONTRACT

\$81,096.00 \$95,406.00

			CONTRACT CNS701
		UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY			
717-10.01 INVOLUNTARY WORK SUSPENSION (I	BY THE DAY)		
	6.000 DAY		
M & M Contract Mowing, LLC		\$1.0000	\$6.00
Orr Contracting, Inc.		\$1.0000	\$6.00
806-01 MOWING			
	954.000 ACRE		
M & M Contract Mowing, LLC		\$85.0000	\$81,090.00
Orr Contracting, Inc.		\$100.0000	\$95,400.00

M & M Contract Mowing, LLC Orr Contracting, Inc. \$81,096.00 \$95,406.00

TOTAL CONTRACT

M & M Contract Mowing, LLC Orr Contracting, Inc. \$81,096.00 \$95,406.00

COUNTIES BEDFORD, MARSHALL, MAURY, AND MOORE (Contract No. CNS702 Call 002)

98303-4207-04,98303-4208-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 289.200 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Caudill Mowing, Inc. H Ray LLC TOTAL CONTRACT

\$282,477.00 \$419,968.00

			С	ONTRACT CNS702
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
		868.000 L.M.		
	Caudill Mowing, Inc.		\$129.0000	\$111,972.00
	H Ray LLC		\$187.0000	\$162,316.00
806-01	MOWING			
		3,789.000 ACRE		
	Caudill Mowing, Inc.		\$45.0000	\$170,505.00
	H Ray LLC		\$68.0000	\$257,652.00

Caudill Mowing, Inc. H Ray LLC

\$282,477.00 \$419,968.00

TOTAL CONTRACT

Caudill Mowing, Inc. H Ray LLC \$282,477.00 \$419,968.00

COUNTIES BENTON, CARROLL, DECATUR, HENDERSON, AND MADISON (Contract No. CNS704 Call 004)

98049-4193-04,98049-4194-04

THE SWATH MOWING AND LITTER REMOVAL ON I-40.

PROJECT LENGTH - 52.700 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

J. R. Farms

TOTAL CONTRACT

\$172,536.83

			C	ONTRACT CNS704
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER	264.000 L.M.		
	J. R. Farms	204.000 L.M.	\$190.0000	\$50,160.00
806-01	MOWING			
	J. R. Farms	806.000 ACRE	\$40.6000	\$32,723.60
806-02.13	3 SWATH MOWING			
	J. R. Farms	2,199.000 ACRE	\$40.7700	\$89,653.23

J. R. Farms

TOTAL CONTRACT

J. R. Farms

\$172,536.83

COUNTIES BLEDSOE, SEQUATCHIE, AND VAN BUREN (Contract No. CNS706 Call 006)

98200-4205-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 136.030 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

	TOTAL CONTRACT	
Alicity Clean Energy, LLC	\$148,839.50	
Bumbalough's Construction	\$161,101.69	
M & M Contract Mowing, LLC	\$163,860.00	
Blevins Enterprises, Inc.	\$189,804.50	

CONTRACT	CNS706

UNIT PRICE

EXTENSION

MAINTENANCE CATEGORY

806-01 MOWING

2,731.000 ACRE

Alicity Clean Energy, LLC	\$54.5000	\$148,839.50
Bumbalough's Construction	\$58.9900	\$161,101.69
M & M Contract Mowing, LLC	\$60.0000	\$163,860.00
Blevins Enterprises, Inc.	\$69.5000	\$189,804.50

Alicity Clean Energy, LLC	\$148,839.50
Bumbalough's Construction	\$161,101.69
M & M Contract Mowing, LLC	\$163,860.00
Blevins Enterprises, Inc.	\$189,804.50

TOTAL CONTRACT

Alicity Clean Energy, LLC	\$148,839.50
Bumbalough's Construction	\$161,101.69
M & M Contract Mowing, LLC	\$163,860.00
Blevins Enterprises, Inc.	\$189,804.50

BLOUNT AND KNOX COUNTIES (Contract No. CNS707 Call 007)

98100-4114-04,98100-4115-04

THE MOWING AND LITTER REMOVAL ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 238.840 MILES

COMPLETION TIME - ON OR BEFORE MARCH 31, 2020

Orr Contracting, Inc.

TOTAL CONTRACT

\$626,702.00

		UNIT PRICE	CONTRACT CNS707 EXTENSION
MAINTENANCE CATEGORY			
717-10.01 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
Orr Contracting, Inc.	6.000 DAY	\$1.0000	\$6.00
719-02 REMOVAL AND DISPOSAL OF LITTER	1,770.000 L.M.		
Orr Contracting, Inc.	1,770.000 L.M.	\$100.0000	\$177,000.00
806-01 MOWING			
Orr Contracting, Inc.	9,776.000 ACRE	\$46.0000	\$449,696.00

Orr Contracting, Inc.

TOTAL CONTRACT

Orr Contracting, Inc.

\$626,702.00

COUNTIES BLOUNT, LOUDON, MONROE, AND ROANE (Contract No. CNS708 Call 008)

98100-4216-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 551.730 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

M & M Contract Mowing, LLC Orr Contracting, Inc. TOTAL CONTRACT

\$341,179.00 \$380,330.00

				CONTRACT C	NS708
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTEN	SION
717-10.01	INVOLUNTARY WORK SUSPENSION (BY THE DAY)				
		6.000 DAY			
	M & M Contract Mowing, LLC		\$1.0000	9	\$6.00
	Orr Contracting, Inc.		\$1.0000	9	\$6.00
806-01	MOWING				
		5,593.000 ACRE			
	M & M Contract Mowing, LLC		\$61.0000	\$341,17	73.00
	Orr Contracting, Inc.		\$68.0000	\$380,32	24.00

M & M Contract Mowing, LLC Orr Contracting, Inc. \$341,179.00 \$380,330.00

TOTAL CONTRACT

M & M Contract Mowing, LLC Orr Contracting, Inc. \$341,179.00 \$380,330.00

COUNTIES BRADLEY, HAMILTON, MCMINN, MEIGS, POLK, AND RHEA (Contract No. CNS709 Call 009)

98029-4293-04,98029-4294-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 589.290 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Salazar Contracting, LLC Orr Contracting, Inc. TOTAL CONTRACT

\$617,700.50 \$694,981.00

MAINTE	NANCE CATEGORY		UNIT PRICE	CONTRACT CNS709 EXTENSION
717-10.01	INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
		6.000 DAY		
	Salazar Contracting, LLC		\$8.0000	\$48.00
	Orr Contracting, Inc.		\$1.0000	\$6.00
719-02	REMOVAL AND DISPOSAL OF LITTER	722.000 L.M.		
	Salazar Contracting, LLC		\$220.0000	\$158,840.00
	Orr Contracting, Inc.		\$200.0000	\$144,400.00
806-01	MOWING	7,341.000 ACRE	• • • • • • • •	
	Salazar Contracting, LLC	,	\$62.5000	\$458,812.50
	Orr Contracting, Inc.		\$75.0000	\$550,575.00
	.		-	. /

Salazar Contracting, LLC Orr Contracting, Inc.

\$617,700.50 \$694,981.00

TOTAL CONTRACT

Salazar Contracting, LLC Orr Contracting, Inc. \$617,700.50 \$694,981.00

COUNTIES CAMPBELL, CLAIBORNE, MORGAN, AND SCOTT (Contract No. CNS710 Call 010)

98100-4217-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 307.780 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Orr Contracting, Inc. Salazar Contracting, LLC TOTAL CONTRACT

\$240,632.28 \$258,300.00

		CONTRACT CNS710
MAINTENANCE CATEGORY	UNIT PRICE	EXTENSION

806-01 MOWING

Orr Contracting, Inc.

Salazar Contracting, LLC

3,444.000 ACRE

\$69.8700 \$75.0000 \$240,632.28 \$258,300.00

Orr Contracting, Inc. Salazar Contracting, LLC \$240,632.28 \$258,300.00

TOTAL CONTRACT

Orr Contracting, Inc. Salazar Contracting, LLC \$240,632.28 \$258,300.00

COUNTIES CANNON, VAN BUREN, AND WARREN (Contract No. CNS711 Call 011)

98029-4295-04,98029-4296-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 246.770 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Blevins Enterprises, Inc. Bumbalough's Construction TOTAL CONTRACT

\$262,813.50 \$266,964.15

				CONTRACT CNS711
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
		502.000 L.M.		
	Blevins Enterprises, Inc.		\$135.0000	\$67,770.00
	Bumbalough's Construction		\$138.9900	\$69,772.98
806-01	MOWING			
		4,383.000 ACRE		
	Blevins Enterprises, Inc.		\$44.5000	\$195,043.50
	Bumbalough's Construction		\$44.9900	\$197,191.17

Blevins Enterprises, Inc. Bumbalough's Construction \$262,813.50 \$266,964.15

TOTAL CONTRACT

Blevins Enterprises, Inc. Bumbalough's Construction \$262,813.50 \$266,964.15

COUNTIES CARTER, JOHNSON, SULLIVAN, UNICOI, AND WASHINGTON (Contract No. CNS712 Call 012)

98100-4218-04,98100-4219-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 434.340 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Orr Contracting, Inc.

TOTAL CONTRACT

\$422,372.00

				CONTRACT CNS712
MAINTENANCE CATEGORY			UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
	Orr Contracting, Inc.	184.000 L.M.	\$200.0000	\$36,800.00
806-01	MOWING			
	Orr Contracting, Inc.	5,842.000 ACRE	\$66.0000	\$385,572.00

Orr Contracting, Inc.

TOTAL CONTRACT

Orr Contracting, Inc.

\$422,372.00

COUNTIES CHEATHAM, MONTGOMERY, ROBERTSON, AND SUMNER (Contract No. CNS713 Call 013)

98303-4109-04,98303-4110-04

THE SWATH MOWING AND LITTER REMOVAL ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 296.110 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

The DSG Group, Inc. Salazar Contracting, LLC H Ray LLC TOTAL CONTRACT

\$399,359.22 \$486,200.40 \$496,617.00

MAINTENANCE CATEGORY EXTENSION 717-10.01 INVOLUNTARY WORK SUSPENSION (BY THE DAY) 6.000 DAY The DSG Group, Inc. Salazar Contracting, LLC H Ray LLC \$10.0000 \$14.9000 \$60.00 719-02 REMOVAL AND DISPOSAL OF LITTER \$155.0000 \$14.9000 \$43,245.00 719-02 REMOVAL AND DISPOSAL OF LITTER \$155.0000 \$255.0000 \$43,245.00 719-02 REMOVAL AND DISPOSAL OF LITTER \$155.0000 \$255.0000 \$43,245.00 806-01 MOWING \$255.0000 \$71,145.00 806-02 MOWING \$3,733.000 ACRE \$53.3550 \$199,174.22 Salazar Contracting, LLC H Ray LLC \$67.0000 \$231,446.00 \$250,111.00 806-021 3 SWATH MOWING \$53.3550 \$199,174.22 \$62.0000 \$231,446.00 806-021 3 SWATH MOWING \$55.0000 \$156,880.00 \$250,111.00 \$250,111.00 806-021 3 SWATH MOWING \$53.0000 \$156,880.00 \$156,880.00 \$156,880.00 \$156,880.00 \$156,880.00 \$156,880.00 \$156,880.00 \$156,800.00 \$156,800.00 \$156,800.00 \$156,800.00					CONTRACT CNS713
6.000 DAY The DSG Group, Inc. Salazar Contracting, LLC H Ray LLC \$10.0000 \$14.9000 \$10.000 \$60.00 \$14.9000 \$60.00 719-02 REMOVAL AND DISPOSAL OF LITTER 719-02 REMOVAL AND DISPOSAL OF LITTER The DSG Group, Inc. Salazar Contracting, LLC H Ray LLC \$155.0000 \$255.0000 \$271,145.00 \$300.0000 \$43,245.00 \$255.0000 \$251,145.00 \$383,700.00 806-01 MOWING \$155.0000 \$250,0000 \$231,446.00 \$250,000 \$43,245.00 \$255.0000 \$231,446.00 \$250,0000 806-02.13 WATH MOWING \$53.3550 \$250,111.00 \$199,174.22 	MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
6.000 DAY The DSG Group, Inc. Salazar Contracting, LLC H Ray LLC \$10.0000 \$14.9000 \$10.000 \$60.00 \$14.9000 \$60.00 719-02 REMOVAL AND DISPOSAL OF LITTER 719-02 REMOVAL AND DISPOSAL OF LITTER The DSG Group, Inc. Salazar Contracting, LLC H Ray LLC \$155.0000 \$255.0000 \$271,145.00 \$300.0000 \$43,245.00 \$255.0000 \$251,145.00 \$383,700.00 806-01 MOWING \$155.0000 \$250,0000 \$231,446.00 \$250,000 \$43,245.00 \$255.0000 \$231,446.00 \$250,0000 806-02.13 WATH MOWING \$53.3550 \$250,111.00 \$199,174.22 \$262.0000 \$250,111.00 806-02.13 WATH MOWING \$290.000 ACRE \$53.3000 \$250,111.00 The DSG Group, Inc. \$3alazar Contracting, LLC H Ray LLC \$53.0000 \$250,111.00 806-02.13 WATH MOWING \$53.0000 \$163,520.00 \$156,880.00 \$183,520.00					
The DSG Group, Inc. \$10.000 \$60.00 Salazar Contracting, LLC \$14.9000 \$89.40 H Ray LLC \$1.0000 \$6.00 719-02 REMOVAL AND DISPOSAL OF LITTER 279.000 L.M. The DSG Group, Inc. \$155.0000 \$43,245.00 Salazar Contracting, LLC \$155.0000 \$71,145.00 H Ray LLC \$300.0000 \$83,700.00 806-01 MOWING 3,733.000 ACRE The DSG Group, Inc. \$53.3550 \$199,174.22 Salazar Contracting, LLC \$62.0000 \$250,111.00 806-02.13 SWATH MOWING \$2960.000 ACRE \$53.0000 The DSG Group, Inc. \$2960.000 ACRE \$53.0000 \$156,880.00 Salazar Contracting, LLC \$62.0000 \$156,880.00 \$183,520.00	717-10.0 ⁻	1 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
Salazar Contracting, LLC \$14.9000 \$89.40 H Ray LLC \$1.0000 \$6.00 719-02 REMOVAL AND DISPOSAL OF LITTER 279.000 L.M. The DSG Group, Inc. \$155.0000 \$43,245.00 Salazar Contracting, LLC \$155.0000 \$71,145.00 H Ray LLC \$300.0000 \$83,700.00 806-01 MOWING \$53.3550 \$199,174.22 The DSG Group, Inc. \$53.3550 \$199,174.22 Salazar Contracting, LLC \$62.0000 \$251.11.00 806-02.13 SWATH MOWING \$2960.000 ACRE \$53.0000 The DSG Group, Inc. \$363.0000 \$156,880.00 \$306-02.13 SWATH MOWING \$53.0000 \$156,880.00 The DSG Group, Inc. \$363.0000 ACRE \$156,880.00 Salazar Contracting, LLC \$156,0000 ACRE \$156,880.00 The DSG Group, Inc. \$33.0000 ACRE \$156,880.00 Salazar Contracting, LLC \$156,880.00 \$183,520.00			6.000 DAY		
H Ray LLC \$1.0000 \$6.00 719-02 REMOVAL AND DISPOSAL OF LITTER 279.000 L.M. The DSG Group, Inc. \$155.0000 \$43,245.00 Salazar Contracting, LLC \$155.0000 \$71,145.00 H Ray LLC \$300.0000 \$83,700.00 806-01 MOWING 3,733.000 ACRE		-			
719-02 REMOVAL AND DISPOSAL OF LITTER 279.000 L.M. The DSG Group, Inc. Salazar Contracting, LLC \$155.000 \$43,245.00 H Ray LLC \$255.000 \$71,145.00 806-01 MOWING \$300.0000 \$83,700.00 B06-02 The DSG Group, Inc. \$3,733.000 ACRE \$53.3550 \$199,174.22 Salazar Contracting, LLC \$62.0000 \$231,446.00 \$62.0000 \$250,111.00 B06-02.13 SWATH MOWING \$2,960.000 ACRE \$53.3000 \$250,111.00 B06-02.13 SWATH MOWING \$2,960.000 ACRE \$53.0000 \$250,111.00 B06-02.13 SWATH MOWING \$30.0000 \$156,880.00 \$53.0000 \$156,880.00 Salazar Contracting, LLC \$2,960.000 ACRE \$53.0000 \$156,880.00 \$156,880.00 \$183,520.00		-			
279.000 L.M. The DSG Group, Inc. Salazar Contracting, LLC \$155.0000 \$43,245.00 H Ray LLC \$255.0000 \$71,145.00 806-01 MOWING \$300.0000 \$83,700.00 Salazar Contracting, LLC J The DSG Group, Inc. \$3,733.000 ACRE Salazar Contracting, LLC \$53.3550 \$199,174.22 Salazar Contracting, LLC \$62.0000 \$231,446.00 H Ray LLC \$67.0000 \$250,111.00 806-02.13 SWATH MOWING 2,960.000 ACRE The DSG Group, Inc. Salazar Contracting, LLC \$53.0000 \$250,111.00 \$250,111.00		H Ray LLC		\$1.0000	\$6.00
The DSG Group, Inc. \$155.0000 \$43,245.00 Salazar Contracting, LLC \$255.0000 \$71,145.00 H Ray LLC \$300.0000 \$83,700.00 806-01 MOWING 3300.0000 \$83,700.00 The DSG Group, Inc. Salazar Contracting, LLC \$53.3550 \$199,174.22 Salazar Contracting, LLC \$62.0000 \$231,446.00 H Ray LLC \$67.0000 \$250,111.00 806-02.13 SWATH MOWING 2,960.000 ACRE 2 The DSG Group, Inc. \$53.0000 \$250,111.00 806-02.13 SWATH MOWING 2,960.000 ACRE 2 The DSG Group, Inc. \$53.0000 \$156,880.00 Salazar Contracting, LLC \$53.0000 \$156,880.00 Salazar Contracting, LLC \$156,880.00 \$183,520.00	719-02	REMOVAL AND DISPOSAL OF LITTER			
Salazar Contracting, LLC \$255.0000 \$71,145.00 H Ray LLC \$300.0000 \$83,700.00 806-01 MOWING 3,733.000 ACRE The DSG Group, Inc. Salazar Contracting, LLC \$53.3550 \$199,174.22 H Ray LLC \$62.0000 \$231,446.00 Sof-02.13 SWATH MOWING \$67.0000 \$250,111.00 B06-02.13 SWATH MOWING 2,960.000 ACRE \$53.0000 \$156,880.00 Salazar Contracting, LLC \$62.0000 \$156,880.00 \$183,520.00			279.000 L.M.		
H Ray LLC \$300.0000 \$83,700.00 806-01 MOWING 3,733.000 ACRE 553.3550 \$199,174.22 The DSG Group, Inc. Salazar Contracting, LLC H Ray LLC \$53.3550 \$199,174.22 \$62.0000 \$231,446.00 806-02.13 SWATH MOWING \$67.0000 \$250,111.00 \$250,111.00 LC The DSG Group, Inc. Salazar Contracting, LLC \$53.0000 \$250,111.00 LC		The DSG Group, Inc.		\$155.0000	\$43,245.00
806-01 MOWING 3,733.000 ACRE		-		\$255.0000	\$71,145.00
3,733.000 ACRE The DSG Group, Inc. Salazar Contracting, LLC \$53.3550 \$199,174.22 Salazar Contracting, LLC \$62.0000 \$231,446.00 H Ray LLC \$67.0000 \$250,111.00 806-02.13 SWATH MOWING 2,960.000 ACRE The DSG Group, Inc. \$53.0000 Salazar Contracting, LLC \$62.0000		H Ray LLC		\$300.0000	\$83,700.00
The DSG Group, Inc. \$53.3550 \$199,174.22 Salazar Contracting, LLC \$62.0000 \$231,446.00 H Ray LLC \$67.0000 \$250,111.00 806-02.13 SWATH MOWING 2,960.000 ACRE 53.0000 The DSG Group, Inc. \$53.0000 \$156,880.00 Salazar Contracting, LLC \$62.0000 \$135,520.00	806-01	MOWING			
Salazar Contracting, LLC \$62.0000 \$231,446.00 H Ray LLC \$67.0000 \$250,111.00 806-02.13 SWATH MOWING			3,733.000 ACRE		
H Ray LLC \$67.0000 \$250,111.00 806-02.13 SWATH MOWING 2,960.000 ACRE The DSG Group, Inc. Salazar Contracting, LLC \$53.0000 \$156,880.00 \$67.0000 \$133,520.00 \$183,520.00		The DSG Group, Inc.		\$53.3550	\$199,174.22
806-02.13 SWATH MOWING 2,960.000 ACRE The DSG Group, Inc. Salazar Contracting, LLC \$53.0000 \$156,880.00 \$62.0000 \$183,520.00		Salazar Contracting, LLC		\$62.0000	\$231,446.00
2,960.000 ACRE The DSG Group, Inc. \$53.0000 \$156,880.00 Salazar Contracting, LLC \$62.0000 \$183,520.00		H Ray LLC		\$67.0000	\$250,111.00
The DSG Group, Inc. \$53.0000 \$156,880.00 Salazar Contracting, LLC \$62.0000 \$183,520.00	806-02.13	3 SWATH MOWING			
Salazar Contracting, LLC \$62.0000 \$183,520.00			2,960.000 ACRE		
-		The DSG Group, Inc.		\$53.0000	\$156,880.00
H Ray LLC \$55.0000 \$162,800.00		Salazar Contracting, LLC		\$62.0000	\$183,520.00
		H Ray LLC		\$55.0000	\$162,800.00

The DSG Group, Inc.	\$399,359.22
Salazar Contracting, LLC	\$486,200.40
H Ray LLC	\$496,617.00

TOTAL CONTRACT

The DSG Group, Inc.	\$399,359.22
Salazar Contracting, LLC	\$486,200.40
H Ray LLC	\$496,617.00

COUNTIES CLAY, CUMBERLAND, FENTRESS, OVERTON, AND PICKETT (Contract No. CNS715 Call 015)

98029-4297-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 421.780 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Orr Contracting, Inc.

TOTAL CONTRACT

\$316,056.00

			CONT	RACT CNS715
		l	JNIT PRICE	EXTENSION
MAINTEN	IANCE CATEGORY			
806-01	MOWING			
		4,052.000 ACRE		
	Orr Contracting, Inc.		\$78.0000	\$316,056.00

Orr Contracting, Inc.

TOTAL CONTRACT

Orr Contracting, Inc.

\$316,056.00

COUNTIES CLAY, DEKALB, JACKSON, OVERTON, PUTNAM, SMITH, AND WHITE (Contract No. CNS716 Call 016)

98029-4298-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 502.300 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Bumbalough's Construction Dillard Farms Salazar Contracting, LLC TOTAL CONTRACT

\$290,761.84 \$314,903.52 \$350,816.00

			C	ONTRACT CNS716
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
806-01	MOWING			
		4,616.000 ACRE		
	Bumbalough's Construction		\$62.9900	\$290,761.84
	Dillard Farms		\$68.2200	\$314,903.52
	Salazar Contracting, LLC		\$76.0000	\$350,816.00

SUB-TOTAL MAINTENANCE

Bumbalough's Construction	\$290,761.84
Dillard Farms	\$314,903.52
Salazar Contracting, LLC	\$350,816.00

TOTAL CONTRACT

Bumbalough's Construction	\$290,761.84
Dillard Farms	\$314,903.52
Salazar Contracting, LLC	\$350,816.00

COUNTIES COCKE, GRAINGER, HAMBLEN, JEFFERSON, AND SEVIER (Contract No. CNS717 Call 017)

98100-4220-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 405.580 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Orr Contracting, Inc.

TOTAL CONTRACT

\$296,355.00

			со	NTRACT CNS717
MAINTE			UNIT PRICE	EXTENSION
717-10.0 ⁻	1 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
	Orr Contracting, Inc.	6.000 DAY	\$1.0000	\$6.00
806-01	MOWING			
	Orr Contracting, Inc.	3,426.000 ACRE	\$86.5000	\$296,349.00

Orr Contracting, Inc.

TOTAL CONTRACT

Orr Contracting, Inc.

\$296,355.00

COFFEE AND FRANKLIN COUNTIES (Contract No. CNS718 Call 018)

98200-4201-04,98200-4202-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 253.81 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Blevins Enterprises, Inc.

TOTAL CONTRACT

\$253,629.00

				CONTRACT CNS718
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
	Blevins Enterprises, Inc.	235.000 L.M.	\$135.0000	\$31,725.00
806-01	MOWING			
	Blevins Enterprises, Inc.	4,824.000 ACRE	\$46.0000	\$221,904.00

Blevins Enterprises, Inc.

TOTAL CONTRACT

Blevins Enterprises, Inc.

\$253,629.00

COUNTIES COFFEE, GRUNDY, HAMILTON, AND MARION (Contract No. CNS719 Call 019)

98200-4103-04,98200-4104-04

THE SWATH MOWING AND LITTER REMOVAL ON I-24.

PROJECT LENGTH - 69.970 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

	TOTAL CONTRACT
M & M Contract Mowing, LLC	\$233,369.00
Orr Contracting, Inc.	\$239,083.00
Blevins Enterprises, Inc.	\$279,689.00
Salazar Contracting, LLC	\$347,600.20

UNIT PRICE **EXTENSION MAINTENANCE CATEGORY** 717-10.01 INVOLUNTARY WORK SUSPENSION (BY THE DAY) 6.000 DAY M & M Contract Mowing, LLC \$1.0000 \$6.00 \$6.00 Orr Contracting, Inc. \$1.0000 Blevins Enterprises, Inc. \$1.0000 \$6.00 \$14.2000 \$85.20 Salazar Contracting, LLC **REMOVAL AND DISPOSAL OF LITTER** 719-02 350.000 L.M. M & M Contract Mowing, LLC \$175.0000 \$61,250.00 Orr Contracting, Inc. \$200.0000 \$70,000.00 Blevins Enterprises, Inc. \$250.0000 \$87,500.00 Salazar Contracting, LLC \$288.0000 \$100,800.00 806-01 MOWING 1,175.000 ACRE M & M Contract Mowing, LLC \$45.0000 \$52,875.00 Orr Contracting, Inc. \$40.0000 \$47,000.00 Blevins Enterprises, Inc. \$50.0000 \$58,750.00 Salazar Contracting, LLC \$65.0000 \$76,375.00 806-02.13 SWATH MOWING 2,839.000 ACRE M & M Contract Mowing, LLC \$42.0000 \$119,238.00 Orr Contracting, Inc. \$43.0000 \$122,077.00 Blevins Enterprises, Inc. \$47.0000 \$133,433.00 Salazar Contracting, LLC \$60.0000 \$170,340.00

CONTRACT CNS719

SUB-TOTAL MAINTENANCE

M & M Contract Mowing, LLC	\$233,369.00
Orr Contracting, Inc.	\$239,083.00
Blevins Enterprises, Inc.	\$279,689.00
Salazar Contracting, LLC	\$347,600.20

TOTAL CONTRACT

\$233,369.00
\$239,083.00
\$279,689.00
\$347,600.20

COUNTIES CROCKETT, DECATUR, HAYWOOD, HENDERSON, AND MADISON (Contract No. CNS720 Call 020)

98400-4201-04,98400-4202-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 595.380 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

The DSG Group, Inc. J. R. Farms TOTAL CONTRACT

\$399,999.96 \$435,438.50

				CONTRACT CNS720
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
		1,813.000 L.M.		
	The DSG Group, Inc.		\$84.3414	\$152,910.96
	J. R. Farms		\$95.0000	\$172,235.00
806-01	MOWING			
		10,743.000 ACRE		
	The DSG Group, Inc.		\$23.0000	\$247,089.00
	J. R. Farms		\$24.5000	\$263,203.50

SUB-TOTAL MAINTENANCE

The DSG Group, Inc. J. R. Farms

\$399,999.96 \$435,438.50

TOTAL CONTRACT

The DSG Group, Inc. J. R. Farms \$399,999.96 \$435,438.50

COUNTIES DAVIDSON, RUTHERFORD, SUMNER, AND WILSON (Contract No. CNS721 Call 021)

98303-4224-04,98303-4225-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 573.720 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Orr Contracting, Inc.
H Ray LLC
Salazar Contracting, LLC

TOTAL CONTRACT

\$647,159.00 \$813,593.97 \$1,224,670.00

			CONTRACT CNS721
		UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY			
717-10.01 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
	6.000 DAY		
Orr Contracting, Inc.		\$1.0000	\$6.00
H Ray LLC		\$1,000.0000	\$6,000.00
Salazar Contracting, LLC		\$1.3330	\$8.00
719-02 REMOVAL AND DISPOSAL OF LITTER			
	158.000 L.M.		
Orr Contracting, Inc.		\$300.0000	\$47,400.00
H Ray LLC		\$540.0000	\$85,320.00
Salazar Contracting, LLC		\$455.0000	\$71,890.00
806-01 MOWING			
	7,789.000 ACRE		
Orr Contracting, Inc.		\$77.0000	\$599,753.00
H Ray LLC		\$92.7300	\$722,273.97

Salazar Contracting, LLC

\$1,152,772.00

\$148.0000

SUB-TOTAL MAINTENANCE

Orr Contracting, Inc.	\$647,159.00
H Ray LLC	\$813,593.97
Salazar Contracting, LLC	\$1,224,670.00

TOTAL CONTRACT

Orr Contracting, Inc.	\$647,159.00
H Ray LLC	\$813,593.97
Salazar Contracting, LLC	\$1,224,670.00

DAVIDSON AND WILLIAMSON COUNTIES (Contract No. CNS722 Call 022)

98303-4111-04,98303-4112-04

THE MOWING AND LITTER REMOVAL ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 198.200 MILES

COMPLETION TIME - ON OR BEFORE MARCH 31, 2020

Salazar Contracting, LLC

TOTAL CONTRACT

\$1,724,800.00

				CONTRACT CNS722
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
717-10.01	1 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
	Salazar Contracting, LLC	5.000 DAY	\$15.2000	\$76.00
719-02	REMOVAL AND DISPOSAL OF LITTER			
	Salazar Contracting, LLC	3,946.000 L.M.	\$270.0000	\$1,065,420.00
806-01	MOWING			
	Salazar Contracting, LLC	9,157.000 ACRE	\$72.0000	\$659,304.00

Salazar Contracting, LLC

TOTAL CONTRACT

Salazar Contracting, LLC

\$1,724,800.00

COUNTIES DYER, GIBSON, LAKE, AND OBION (Contract No. CNS724 Call 024)

98400-4103-04,98400-4104-04

THE MOWING AND LITTER REMOVAL ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 599.310 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

J. R. Farms

TOTAL CONTRACT

\$558,466.00

				CONTRACT CNS724
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER	4 705 000 14		
	J. R. Farms	1,795.000 L.M.	\$95.0000	\$170,525.00
806-01	MOWING			
	J. R. Farms	16,867.000 ACRE	\$23.0000	\$387,941.00

J. R. Farms

TOTAL CONTRACT

J. R. Farms

\$558,466.00

COUNTIES FAYETTE, HAYWOOD, AND MADISON (Contract No. CNS725 Call 025)

98400-4105-04,98400-4106-04

THE SWATH MOWING AND LITTER REMOVAL ON I-40.

PROJECT LENGTH - 52.950 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

J. R. Farms

TOTAL CONTRACT

\$182,014.00

			CC	NTRACT CNS725
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
	J. R. Farms	265.000 L.M.	\$190.0000	\$50,350.00
806-01	MOWING			
	J. R. Farms	895.000 ACRE	\$39.0000	\$34,905.00
806-02.13	3 SWATH MOWING			
	J. R. Farms	2,481.000 ACRE	\$39.0000	\$96,759.00

J. R. Farms

TOTAL CONTRACT

J. R. Farms

\$182,014.00

GILES AND LAWRENCE COUNTIES (Contract No. CNS727 Call 027)

98303-4215-04,98303-4216-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 150.810 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Bass Mowing, LLC

TOTAL CONTRACT

\$133,638.52

			(CONTRACT CNS727
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
	Bass Mowing, LLC	202.000 L.M.	\$127.0000	\$25,654.00
806-01	MOWING			
	Bass Mowing, LLC	2,348.000 ACRE	\$45.9900	\$107,984.52

Bass Mowing, LLC

TOTAL CONTRACT

Bass Mowing, LLC

\$133,638.52

COUNTIES GILES, MARSHALL, AND MAURY (Contract No. CNS728 Call 028)

98303-4117-04,98303-4118-04

THE SWATH MOWING AND LITTER REMOVAL ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 57.470 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Bass Mowing, LLC

TOTAL CONTRACT

\$184,648.07

			CO	NTRACT CNS728
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER			
	Bass Mowing, LLC	288.000 L.M.	\$200.0000	\$57,600.00
806-01	MOWING			
	Bass Mowing, LLC	1,589.000 ACRE	\$33.8800	\$53,835.32
806-02.13	3 SWATH MOWING			
	Bass Mowing, LLC	2,503.000 ACRE	\$29.2500	\$73,212.75

Bass Mowing, LLC

TOTAL CONTRACT

Bass Mowing, LLC

\$184,648.07

COUNTIES GREENE, HAMBLEN, HANCOCK, AND HAWKINS (Contract No. CNS729 Call 029)

98100-4221-04,98100-4222-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 434.520 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Orr Contracting, Inc.

TOTAL CONTRACT

\$409,029.00

				CONTRACT CNS729
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER	402 000 L M		
	Orr Contracting, Inc.	183.000 L.M.	\$183.0000	\$33,489.00
806-01	MOWING	5,690.000 ACRE		
	Orr Contracting, Inc.	3,030.000 ACKE	\$66.0000	\$375,540.00

Orr Contracting, Inc.

TOTAL CONTRACT

Orr Contracting, Inc.

\$409,029.00

GRUNDY AND MARION COUNTIES (Contract No. CNS730 Call 030)

98200-4206-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 267.990 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Blevins Enterprises, Inc.

TOTAL CONTRACT

\$192,300.00

			CC	ONTRACT CNS730
			UNIT PRICE	EXTENSION
MAINTE	NANCE CATEGORY			
806-01	MOWING			
000-01		3,205.000 ACRE		
	Blevins Enterprises, Inc.	·	\$60.0000	\$192,300.00

Blevins Enterprises, Inc.

TOTAL CONTRACT

Blevins Enterprises, Inc.

\$192,300.00

HAMILTON COUNTY (Contract No. CNS731 Call 031)

33948-4160-04

THE MOWING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 69.480 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Salazar Contracting, LLC Bumbalough's Construction TOTAL CONTRACT

\$256,800.00 \$269,440.70

				CONTRACT CNS731
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
717-10.01	INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
		6.000 DAY		
	Salazar Contracting, LLC		\$0.1000	\$0.60
	Bumbalough's Construction		\$499.0000	\$2,994.00
806-01	MOWING			
		5,330.000 ACRE		
	Salazar Contracting, LLC		\$48.1800	\$256,799.40
	Bumbalough's Construction		\$49.9900	\$266,446.70

Salazar Contracting, LLC Bumbalough's Construction \$256,800.00 \$269,440.70

TOTAL CONTRACT

Salazar Contracting, LLC Bumbalough's Construction \$256,800.00 \$269,440.70

COUNTIES HOUSTON, MONTGOMERY, AND STEWART (Contract No. CNS732 Call 032)

98303-4219-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 323.610 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Salazar Contracting, LLC H Ray LLC TOTAL CONTRACT

\$274,000.00 \$318,180.15

				CONTRACT CNS732
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
717-10.0 ⁴	1 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
		6.000 DAY		
	Salazar Contracting, LLC		\$5.6660	\$34.00
	H Ray LLC		\$1.0000	\$6.00
806-01	MOWING			
		4,151.000 ACRE		
	Salazar Contracting, LLC		\$66.0000	\$273,966.00
	H Ray LLC		\$76.6500	\$318,174.15

Salazar Contracting, LLC H Ray LLC

\$274,000.00 \$318,180.15

TOTAL CONTRACT

Salazar Contracting, LLC H Ray LLC \$274,000.00 \$318,180.15

COUNTIES LAWRENCE, LEWIS, AND WAYNE (Contract No. CNS733 Call 033)

98303-4220-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 152.090 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Bass Mowing, LLC

TOTAL CONTRACT

\$132,730.90

		CON	TRACT CNS733
		UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY			
806-01 MOWING			
Bass Mowing, LLC	2,771.000 ACRE	\$47.9000	\$132,730.90
Badd Mowing, EEO		ψ11.0000	ψ102,100.00

Bass Mowing, LLC

TOTAL CONTRACT

Bass Mowing, LLC

\$132,730.90

COUNTIES LEWIS, PERRY, AND WAYNE (Contract No. CNS734 Call 034)

98303-4221-04,98303-4222-04

THE MOWING AND LITTER REMOVAL ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 170.760 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Caudill Mowing, Inc.

TOTAL CONTRACT

\$103,518.40

				CONTRACT CNS734
MAINTE			UNIT PRICE	EXTENSION
719-02	REMOVAL AND DISPOSAL OF LITTER	00 000 L M		
	Caudill Mowing, Inc.	92.000 L.M.	\$150.0000	\$13,800.00
806-01	MOWING			
	Caudill Mowing, Inc.	1,696.000 ACRE	\$52.9000	\$89,718.40

Caudill Mowing, Inc.

TOTAL CONTRACT

Caudill Mowing, Inc.

\$103,518.40

COUNTIES MACON, SMITH, AND TROUSDALE (Contract No. CNS735 Call 035)

98303-4223-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 249.000 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

	TOTAL CONTRACT
M & M Contract Mowing, LLC	\$203,881.00
Dillard Farms	\$213,983.76
Salazar Contracting, LLC	\$231,268.00
H Ray LLC	\$270,827.00

UNIT PRICE EXTENSION

MAINTENANCE CATEGORY

806-01 MOWING

3,043.000 ACRE

M & M Contract Mowing, LLC	\$67.0000	\$203,881.00
Dillard Farms	\$70.3200	\$213,983.76
Salazar Contracting, LLC	\$76.0000	\$231,268.00
H Ray LLC	\$89.0000	\$270,827.00

M & M Contract Mowing, LLC	\$203,881.00
Dillard Farms	\$213,983.76
Salazar Contracting, LLC	\$231,268.00
H Ray LLC	\$270,827.00

TOTAL CONTRACT

M & M Contract Mowing, LLC	\$203,881.00
Dillard Farms	\$213,983.76
Salazar Contracting, LLC	\$231,268.00
H Ray LLC	\$270,827.00

RUTHERFORD AND WILLIAMSON COUNTIES (Contract No. CNS737 Call 037)

98303-4226-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 126.300 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

	TOTAL CONTRACT
Caudill Mowing, Inc.	\$108,474.00
Blevins Enterprises, Inc.	\$149,154.00
H Ray LLC	\$191,004.00
Salazar Contracting, LLC	\$259,400.00

			CONTRACT CNS737
		UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY			
717-10.01 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
	6.000 DAY		
Caudill Mowing, Inc.		\$1.0000	\$6.00
Blevins Enterprises, Inc.		\$100.0000	\$600.00
H Ray LLC		\$1.0000	\$6.00
Salazar Contracting, LLC		\$3.3330	\$20.00
806-01 MOWING			
	2,358.000 ACRE		

Caudill Mowing, Inc.	\$46.0000	\$108,468.00
Blevins Enterprises, Inc.	\$63.0000	\$148,554.00
H Ray LLC	\$81.0000	\$190,998.00
Salazar Contracting, LLC	\$110.0000	\$259,380.00

Caudill Mowing, Inc.	\$108,474.00
Blevins Enterprises, Inc.	\$149,154.00
H Ray LLC	\$191,004.00
Salazar Contracting, LLC	\$259,400.00

TOTAL CONTRACT

Caudill Mowing, Inc.	\$108,474.00
Blevins Enterprises, Inc.	\$149,154.00
H Ray LLC	\$191,004.00
Salazar Contracting, LLC	\$259,400.00

SHELBY COUNTY (Contract No. CNS738 Call 038)

79947-4148-04,79947-4149-04

THE MOWING AND LITTER REMOVAL ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 112.310 MILES

COMPLETION TIME - ON OR BEFORE MARCH 31, 2020

Michael Barham

TOTAL CONTRACT

\$1,763,909.00

MAINTE	NANCE CATEGORY		UNIT PRICE	CONTRACT CNS738 EXTENSION
717-10.01	I INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
	Michael Barham	6.000 DAY	\$1.0000	\$6.00
719-02	REMOVAL AND DISPOSAL OF LITTER			
	Michael Barham	4,319.000 L.M.	\$289.0000	\$1,248,191.00
806-01	MOWING			
	Michael Barham	7,584.000 ACRE	\$68.0000	\$515,712.00

Michael Barham

TOTAL CONTRACT

Michael Barham

\$1,763,909.00

WAYNE COUNTY (Contract No. CNS739 Call 039)

91946-4208-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 137.430 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

Caudill Mowing, Inc.

TOTAL CONTRACT

\$107,069.60

			C	ONTRACT CNS739
			UNIT PRICE	EXTENSION
MAINTE	NANCE CATEGORY			
806-01	MOWING			
		2,024.000 ACRE		
	Caudill Mowing, Inc.		\$52.9000	\$107,069.60

Caudill Mowing, Inc.

TOTAL CONTRACT

Caudill Mowing, Inc.

\$107,069.60

WILLIAMSON COUNTY (Contract No. CNS740 Call 040)

94946-4239-04

THE MOWING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 168.870 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

	TOTAL CONTRACT
Caudill Mowing, Inc.	\$121,640.00
H Ray LLC	\$139,527.50
Salazar Contracting, LLC	\$164,570.00

			CONTRACT CNS740
MAINTENANCE CATEGORY		UNIT PRICE	EXTENSION
717-10.01 INVOLUNTARY WORK SUSPENSION (BY THE DAY)			
	5.000 DAY		
Caudill Mowing, Inc.		\$1.0000	\$5.00
H Ray LLC		\$1.0000	\$5.00
Salazar Contracting, LLC		\$1.0000	\$5.00
806-01 MOWING			
	1,431.000 ACRE		
Caudill Mowing, Inc.		\$85.0000	\$121,635.00
H Ray LLC		\$97.5000	\$139,522.50
Salazar Contracting, LLC		\$115.0000	\$164,565.00

Caudill Mowing, Inc.	\$121,640.00
H Ray LLC	\$139,527.50
Salazar Contracting, LLC	\$164,570.00

TOTAL CONTRACT

Caudill Mowing, Inc.	\$121,640.00
H Ray LLC	\$139,527.50
Salazar Contracting, LLC	\$164,570.00